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B. Com, (General/Voc.) EXAMINATION
(For Batch 2011 & 2012 Only)
(Fourth Semester)
CORPORATE ACCOUNTING-II

BM-402 ‘

Time : Three Hours Maximum Marks : 80

Note : Candidates are to attempt Five questions
in all. Q. No. 1 is compulsory. All questions

carry equal marks.

1. (a) Explain the super profit. 2
(b) Define Average Capital Employed. 2
(¢) Distinguish between Capital Reserve and
Reserve Capital. e 2
(d) What do you mean by Minority Interest ?

2
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(e)

(f)

(g)

(h)

Explain the three ways by which a
company can become Holding company

of other company. . 2

Explain, how is cost of control calculated.
2

What are the Non-Performing Assets ?
2

Write the note on Reserve for Unexpired
Risks. 2

Anjali is desirous of selling her business to

" Renu. The former has earned a profit in the
past of ¥ 1,60,000 p.a. It is considered that

such average profit fairely represents the profit

likely to be earned in future except that :

(a)
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Chemist’s fee T 10,000 charged against
such profits will not be payable by Renu
as she is herself an able chemist and can

work as such.

(b)

(©)

Rent at ¥ 29,000 p.a. which had been
paid by Anjali will not be a change in
future since Renu owns her own premises
and can supply the accommodation
necessary for the staff and equipment.

The value is estimated at ¥ 1,50,000.

Average capital employed is T 19,00,000
and 8% is condidered a reasonable rate
for this type of business. Calculate the
value of Goodwill. 16

The balance sheet of Surya Ltd. as at 31st Dec,
2010 1s as follows :

Liabilities 4

Assets N

Eq. Share Fixed Assests
Capital (¥10)15,00,000  22,00,000
Reserved Less : Depre-
Surplus 1,43,000 ciation
6,70,000  15,30,000
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Sundury Investments :

Creditor 80,000 8% Securitics 1,50,000

Provision
for Taxation 2,40,000

QOutstanding Current Assets  2,70,000
Expenses 5,600

Preliminary
‘ Expenses 18,600
19,68,600 19,68,600
The provision for taxation is for current year and
is @ 60% of the net profit. Return on net capital
employed in this industry is 12%. Ascertain the

value of shares. 16

4, What is Holding Company ? Explain the

following in case of a Holding Company : 16
(a) Cost of Control

(b) Pre-Acquisition Profit

(c) Minority Interest

(d) Capital Reserve |
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Prepare liquidator’s final statement of account
from the following details :

Craditors ¥ 52,000, Bank Overdraft ¥ 14,500,
Wages and Salary ¥ 4,800, Preference Share
Capital 40,000 shares of ¥ 10, ¥ 7 cailed up,
Equity Share Capital 20,000 shares of ¥ 10,
¥ 9 paid up and 20,000 shares of ¥ 10, ¥ 5
paid up, Calls in Advanced on preference
shares ¥ 24,000.

Assets realised T 4,40,000. Liquidation.
expenses amounted to T 1,200 and Liquidator’s
remmuneration T 8,000. 16

Give the pro forma of Profit and Loss Account
of a Banking Company with schedules. 16

On Sth December, 2010, the Godown of
Narmala Ltd. was destroyed by fire. Their
record revealed the following :

4
Stock on 1st April, 2010 12,20,000
Purchases from Ist April to
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the date of fire 75,40,000
Sales from Ist April to the ,

date of fire 92,10,000
Purchases Returns from Ist

April to date of fire 60,000
Wages from lst April to date

of fire 2,30,000

Rate of gross profit 24% on Sales
Value of stock salyaged : 3,29,560

Amount of Policy 17,50,000

A Sum of ¥ 40,000 was incurred on fire

fighting charges.

Calculate the amount of insurance claim. 16

Explain the various methods of valuation of
shares. Describe and illustrate ‘Earning
Capacity Method’ of valuation of shares. 16

Explain the factors which affect the valuation
of Goodwill. Discuss the methods which are

used for goodwill valuation. 16
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(Hindi Version)

Frz . vl w wma Ut ¥E S § | I R

1.

| s 2 ol e % oiF wEAM R

(21) sfyeny &1 FUE ST | 2
(a) s fafrifaa qst @ ofeafia i
2

() Yot wom ue omfEm ot H R W

it | 2
(z) eqdErd fea @ I ¥ G ¢ 2
2

(2) 3 @A adE @ gui e, feE o
For et gl FOE w O HE

el 2
(%) FrEao # @@ H O B™ H S
%?'Hﬂfﬂﬂﬁ'ﬁv‘l‘ql 2
(M) wdE = E ? 2
(7) swmfas sifem & fou ¥ W @&
feooft faf@w | 2

Fafq A FaEE H OH odEd HOTEE
2 3w qd # T 160000 aUE I
F9r | TE WET ST W@ @ fE g aiwd @
frefafaa + ofafcs wfess & of @ &

. HEE W@ W
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(31) T 10000 =1 $fire w19 afasy § ol
q =96 T© # e i owd

4 S ¥ 7w 4w = w aEd SR Rl W
‘ 3 Elbes] 1,43,000 6,70,000 15,30,000
_ . fafay fafwar .
| (D F SGET: ©,29.000 T, Pogen oen GREIL 80,000 8% wfagfa  1,50,000
‘ mm,a}:ﬂaﬁﬁmﬁ‘aﬁﬂa’fﬁml B fir
. Fifeh T & MY AT IR T W TEh o 2.40,000
|‘ A 9 T @ e A A S ww I = 5,600 =& wfEE 270,000
_ 21 TEw e W@ T 1,50,000 RS = 18,600
‘ (%) ohaa fafeifsm $f 2 1900000 & @on 19.,68,600 19,68.600
T YHR % Faddl H yfowed # ) 8% . .
i rh ' o a4 A #H fou gEuam a5 60%
MW g e W g1 W A IS fafeem W whee w9
2% ® | il W gemiEs @R 1 16

: e 3 Frerfa
‘ 3. 31 TR, 2010 e 4. UM FHEA FN 2 2 GEUM FwEEt @ fo

e - frefafes 1 avfq =ifse .
EUR I ?  gefaai z :
‘ AT A9 e Tt (=) fEam &1 @
7 (210) 15,00,000  22,00,000 (@) sfmew @ gd ww
(|) soomens + feq 16
g : (3) gt =7 |
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frafafea faem 4@ s &1 afw @
faerm AR #ifsw

SRR T 52,000; & orfufgwd T 14,500;
Teigl e a9ad T 4,800; T 10 A qaAIfHER
&9 st 40,000, A=A & 7 % T 10 O
20,000 9. H FHAT @ U, T 9 FW @
T10 @/ 20000 W, T 5 IF; ¥ 24,000
Eifur swl | owfm ufer m@omER o

Fofgal @ W T 4,40,000 RO =F
1200 aen fema %1 qfEfis T 8,000 ©
16

uH AfFET FEA H W9 TE e @

ey orgfed afed T 16

5 f&, 2010 @ Ad9en fa. & MEw M ®
T2 B T | 3EE el §  FreEfated
faamm g gam -

<
=Y (1 a7, 2010 ) 12,20,000
| ow ® A oW fafy o=

F HI 75,40,000
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9.

| se | afg wmr fafy o=F

# fawa 92,10,000
| ete | o W fafy %
wq I 60,000
| e 9 afm & fafy o
HSTgLl 2,30,000
fora W wHEA o9 T 24% B
T L @Y H A 3,29,560
et # uf 17,50,000

s gv § T 40000 H WA TE TE |
dHr gE1 S A H MO KISC | 16

Al & gewiEd w1 fafee fafel & oo
ity | ‘I awar fafy' @ S<Er gfew
IeoiE  Hifew | 16

e # HE-HEY T yWfad s E,
I AU Hifew | @nfq & Jedied & fau
v § wE WA awet fafml s gei
HIT | 16
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